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1. Choose the correct answers from the following :
. 1x6=6

(a) The most deletenous effects of modern
cosmetics are

® Retinotozicity |
(i) Agranulocytosis
(i) Allergic reactions and contact dermatms |
(iv) Chemica] carcinogens )
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‘(b) Food allergies are . .

@) ’adveng;' reaction to a food in Which “the '

‘body’s immune system is not involved

. (ii) an. nnmunologlc reaction resultmg from

the mgestlon contact or’ mhalatlon of ,

food or- food addltlves

(iii) a metabohc food disorder when food

‘borne . substances mterfere with normal
metabolic processes.

- (iv).All of the rabove .

(c) DDT is

@) Orgmophqspﬁmé '(ili) Cérbamates ‘
i) Organockiorine Pyt

“(d) The level of ocular tox1c1ty can be evaluated

(_i) Ames test
* (ii) Draize test
(iii) Teratogenesity fest

(iv) LD;, test
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| 2. Answer the following queSﬁOﬂs in brief :

(€) Which one of the following toxicants can cause
DNA damage ? -

(l) Snake venom (i) .’NicoAtine .

(iii) CO (iv) Carcinogens |
(f) Abuse .of which of the followmg drugs can -

cause hallucination ?

(i) Heroin

(i) Lysergic acid diethylaniide (LSD)

(iiii) Caffeine | :

(iV) Nicbtine.

2x5=10
(@) What are fo04 additives and food .
Contatmaams ?

(b) Briefly descripe therapentic drugs and thie
uses. : '

(©) What are reversible and n-reversﬂ)le toxic
effects ? :

(d) What is Margin of gafety? How is it
eXpressed ?

(€) What type of tox1c1ty is ““sed due to
OtCupationa] exposure ? Cite an example..
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: (e) What are the sources of Jeaq

. 3. Answer any six from the following questions:

. 5%6=30

" (a) Deﬁne dose-response relationship. What is a

dose response curve ?

(b) The antibiotic tigecycline is available as a IV
drip stock solution at 25 milligrams per ml
concentration. The safe, effective dose for

" children is 1500 micrograms per kg body
mass. How many ml of the stock solutioﬁ
must you administer to a 31.5kg child ?
(1 milligram = 1000 micrograms) .

(C) Elaborate in brief tfo explain the' diﬁ'
between toxicity and potency, erence

(d) Write short notes on foreng; and o
toxicology. : clinical

Cite its effects. . Ontamination ?

() A patient was- hospitalized -
intravenous injection of ¢,
' . X1 : .
scenorio what Kind of mol‘::,m] Z In this
approach will you p - Far biology
presence of toxicant 7 . to confirm

Describe the eXperimengg; :;p:::: h]jatient?
C

as he took

+ (8) Write a brief notes on any two.classes of .

agriculture pesticides.
.(h) YWIA_xiCh Segment ..pf. a dogé respﬁxiég :Cuxfx'.e;is
Most important in defining thc‘».acﬁtetoan.ty
of a chemieal and why? Explein-

A @ DgsCi‘ibe the ‘mécl'lanism 6f | '.a°ﬁ°‘_" of .

Pyrethroids poisoning.

| S e
Answer any two questions from the following : -
. - 10x2=20

(@) Write short notes on :
() Hypersensitivity and Allergy
(ii) .CaICinogenic and mutagenic ‘act'ion. Of A'
* toxicants. . -
Describe  the |

() What js te resity ? :
at is teratogent ty ‘ofteratog"nes“?'

characterisics and mechanis™

. 1o ll liver cells BY
(0)‘ Toxicant X was found 0 kﬂl A. In this.

inducing the expression of '8""‘5 ©chmique
scenario, what molecular meZigeytoxiéity of
pond you perform B e experimental
toxicant X, Describe T

aPProach in details-
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5. Answer any one from the following questions :

N . 14x1=14

(a) Explain the toxic effects caused by blockade

in the oxygen transport machinery and

through interfenence in the synthesis and
functions of nucleic- acids and -proteins,

. (b) What is meant by fVectorial transport’ with
respect to the elimination of toxicants from
 the body ? Explain the mechanism of renal

and hepatic elimination of toxicants,
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